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EBRA 1. EEAAK
R iEReil (a8 ERHAr (HHD. e BERkidEiQ
A

i/ 1

There are 10 children in a company's day-care center, and a pair of children is to be
selected to play a game. At most, how many different pairs are possible?

(A) 100 (B)90 (C)50 (D) 45 (E) 25

%%: D

1517 2

Jill, who lives in City C, plans to visit 3 different cities, M, L, and S.  She plans to visit
each city exactly once and return to City C after the 3 visits. She can visit the cities
in any order. In how many different orders can she visit the 3 cities?

(A) 3 (B) 6 (€) 8 (D) 9 (E) 12
Wi P
%% B

Bl 3 (GWD 5 16 £ Q2)

If each of the 12 teams participating in a certain tournament plays exactly one game
with each of the other teams, how many games will be played?

(A) 144 (B) 132 (C) 66 (D) 33 (E) 23

ﬁ@*ﬁ: 6122 =66
EE: C



i/ 4.

John has 5 friends who want to ride in his new car that can accommodate only 3
passengers at a time. How many different combinations of 3 passengers can be
formed from the 5 friends?

A. 3
B. 8
C. 10
D. 15
E. 20

fittr: c3 =10

BE:. C

| @5 5

— A EEIE AT T 10 A WRA A RN AS s TRV DA NI

/E‘E\ E% H

CSy =101/(6!41) =210

18 6 (GWD T4Q5)

A certain club has 20 members. What is the ratio of the number of 5-member
committees that can be formed from the members of the club to the number of
4-member committees that can be formed from the members of the club?
(A)16to1 (B)15to 1 (C)16to5 (D)15to 6 (E)5to 4

il Co : Cfy =16: 5
BRE: C

/8 7 (GWD T9Q7)
A company has assigned a distinct 3-digit code number to each of its 330 employees.



Each code number was formed from the digits: 2, 3, 4, 5, 6, 7, 8, 9 and no digit
appears more than once in any one code number. How many unassigned code
numbers are there?

(A) 6 (B) 58 (C)174 (D) 182 (E) 399

f#EHT: P§—330

= A

o

& 8 (GWD T10Q6)

If a code word is defined to be a sequence of different letters chosen from the 10
letters A, B, C, D, E, F, G, H, |, and J, what is the ratio of the number of 5-letter code
words to the number of 4-letter code words?

(A)5to 4 (B)3to2 (C)2to1l (D)5to 1 (E)pto1l

ﬁzﬁ‘*ﬁ: P150 : P140 =6: 1

R E

fifi 9 (GWD T13Q3)

Each participant in a certain study was assigned a sequence of 3 different letters
from the set {A, B, C, D, E, F, G, H}. If no sequence was assigned to more than one
participant and if 36 of the possible sequences were not assigned, what was the
number of participants in the study? (Note, for example, that the sequence A, B, C
is different from the sequence C, B, A.)

(A) 20 (B) 92 (C) 300 (D) 372 (E) 476

fthr: P3—36
HE: C

=

oy

il 10:
£ 0.1, 0.001, 0.0001, 0.000001, 0.000000001 FL/M4fE, If two or more numbers added
together, how many different numbers we can get?



B

SILRAE, BRI, AEWEERTEE G, M2 R0, PrbEda .
PN I AT BEME: €2 =10

AR AT REYE: €3 =10

VUNECAE I T REPE: €2 =5

FAFAHIN AT REME: €2 =1

SILATREME: 10+10+5+1 = 26

ZBR: 26

EBER 2: ik

—HERE R, AT 2, BORER 7 A B R e AR IR SR A
ANEEAR

ik SR IR E AR .

1178 1
A certain company employs 6 senior officers and 4 junior officers. If a committee is
to be created that is made up of 3 senior officers and 1 junior officer, how many

different committees are possible?
(A) 8 (B) 24 (C) 58 (D) 80 (E) 210

@ C3*CL =20%4 =80

%%: D

/8 2 (GWD T12Q7)

There are 11 women and 9 men in a certain club. If the club is to select a
committee of 2 women and 2 men, how many different such committees are
possible?

(A) 120 (B) 720 (C) 1,060 (D) 1,520 (E) 1,980

fitbr: C2* C2 =55%36=1980
X E



151 788 3:

The buyer of a new home must choose 2 of 4 types of flooring and 2 of 6 paint colors.
How many different combinations of type of flooring and paint color are available to
the home buyer?

24
48
90
96

moowr

fiftfT: C2* C? =6*15=90
%%: D

/% 4 (GWD T3Q30):

The membership of a committee consists of 3 English teachers, 4 Mathematics
teachers, and 2 Social Studies teachers. If 2 committee members are to be selected
at random to write the committee’s report, what is the probability that the two
members selected will both be English teachers?

(A) 2/3 (B) 1/3 (C)2/9 (D) 1/12 (E) 1/24

Wb BARTREE: C2 = 36,

a4 T REE: C2 =3
WEZ 2. 3/36=1/12

—?é: D

HH’

#ifi 5 (GWD T6Q24)

A certain restaurant offers 6 kinds of cheese and 2 kinds of fruit for its dessert platter.
If each dessert platter contains an equal number of kinds of cheese and kinds of fruit,
how many different dessert platters could the restaurant offer?



(A) 8 (B) 12 (C)15 (D) 21 (E) 27

fiFEAtT -
B H FESR AR [E BT cheese 1 fruit, A AR fE.
(1) 1 cheese A1 1 Ff fruit
Cl (6 Ff cheese it 1 F) * €3 (2 Fh cheese Hidlitt 1 Fl) =12
(2) 2 T cheese 1 2 Ff fruit
CZ (6 Fh cheese i 2 Ff1) * €2 (2 Ff cheese Hihii 2 Fi) =15
g7 b, 3 12 +15=27 FhilRE.

o

= E

8 6 (GWD T7Q5)
From a group of 3 boys and 3 girls, 4 children are to be randomly selected. What is
the probability that equal numbers of boys and girls will be selected?

NS B @: De @
W @y @, O @7

figehr: 6 N NEHh 4 DANBFRENE: € =15

3 2 5 2 L ATRetE: € * €2 =3*3=9
ME%: 9/15=3/5

D

>

e e

il

/@ 7 (GWD T6Q7):

A certain university will select 1 of 7 candidates eligible to fill a position in the
mathematics department and 2 of 10 candidates eligible to fill 2 identical positions in
the computer science department. If none of the candidates is eligible for a
position in both departments, how many different sets of 3 candidates are there to
fill the 3 positions?

(A) 42 (B) 70 (C) 140 (D) 165 (E) 315

filthT: Ct * C% =7*45=315
ER:E



/8 8 (GWD T16Q27):
A box contains exactly 24 balls, of which 12 are red and 12 are blue. If two balls are
to be picked from this box at random and without replacement, what is the
probability that both balls will be red?

1 1 5 iy 19
W% @+ @©? @ (@9

fiEbr: BRIATREVE: CF,
FhE 2 DLBRIATRENE: CF,

= A

o

il 9:

An analyst will recommend a combination of 3 industrial stocks, 2 transportation
stocks, and 2 utility stocks. If the analyst can choose from 5 industrial stocks, 4
transportation stocks, and 3 utility stocks, how many different combinations of 7
stocks are possible?

A 12
B. 19
C. 60
D. 180
E. 720

fffT: C3* CZ *C2
%%: D

11|/ 10:

In a box of 12 pens, a total of 3 are defective. If a customer buys 2 pens selected at
random from the box, what is the probability that neither pen will be defective?

A. 1/6

2/9

6/11

9/16

3/4

mooOw

fietir: 12 SCZE: 3 DN, 9 MR,
M 12 ST 2 SO S AT REdE: CF, =66



A 2 SCEIA R IR AT fett: €2 =36
ME% . 36/66 = 6/11

BRE: C

HIEE 11 (11 AHLE):
—NEBITERIEE 10 ML 6 N FE, N 16 AN AR AN NS A 5 TAES,
Al W 2 — 5 — L IR 2 2 /D ?

AE%S

Cio*Cs _ 10x6 _ 1

c%, 120 2
1

g L

178 12:
HUUAR 2k, HAPRIELE power source b, Rt Bk, NILE 2 PHSERLE
power source [ JLREZ K?

A@\%S

RILPUAR 2. PR HZk power source, HANFIAR LT power source.
4 MRHEZRE 2 R RENE: CF =6

1L 2 FR FELZR#T /2 power source HIFTREME: €2 =1

T ARG A=

1
L I

B 13 (3 HHLED:
AW FATHELZ, Hh—iRA 5 N, BRA 4 A L S ET A
(vertice), REfiHHZ/bA~=MHE?

Rk



CixC}l + C2xCt =70

o

. 70

EABER 3: RKKitie

Rrml: B SRR ShE MY, BRREEAT — 5 I PR e AT
ik WU BCE B NPT REVE, PR P RS SR B
JE: RpiRouER, DUSGALEE, HRERGLE, REFEE.

filE 1. (5 ANLED
begin XN HiA ik P BEEETHES, LLCE IR EIG LA 20 F 2

fifffr: 2*4*3%*2*1=48 B{  2*P} =48

B 48

5 2 (11 ANLZ):
HHL R 4 A characters, 35— M2 7 BF E, 35 AN 26 MERFHFERE A,
F=L TUANE 09 PAEE— T, BWEE, RITE TR EMNSKEE?

/E‘E\E%:

FH—AOE B AT AH 26 MAlEE B VIANSE 10 FrelEe BT P
MiZ A& 26X 10X 10

2. 2600

il 3
A certain stock exchange designates each stock with a one-, two-, or three-letter



code, where each letter is selected from the 26 letters of the alphabet. If the letters
may be repeated and if the same letters used in a different order constitute a
different code, how many different stocks is it possible to uniquely designate with
these codes?

(A) 2,951

(B) 8,125

(C) 15,600

(D) 16,302

(E) 18,278

fiitdfr: (1) —FhE: 26
(2) WPBE: 26*26
(3) =A~FBk: 26%26*26
8 _E T = A Sl A Sk

%:E

i)

i/ 4.

A company plans to assign identification numbers to its employees. Each number is
to consist of four different digits from 0 to 9, inclusive, except that the first digit
cannot be 0. How many different identification numbers are possible?

(A) 3,024 (B) 4,536 (C) 5,040 (D) 9,000 (E) 10,000

fiiffr: 9*9*8*7 = 4536
%%: B

B 5 (3 ANLE):
—> more than 2000 1] even PUN7 %L, DOAMEESZEM {1, 2, 3, 4} HiEW, A&
REEE, MEEHE 2/ NI

ISy

FVUNIAT 2 Fhidedt (HBER 2 B 4);

HfIAREE 1, WARMERE —EE, f 2 fuk;

B ALAREMEE AL, BN ER, A 2 Mgk
BEALAREME AL, B AL, B ES, Jf 1 k.
FITBIIEAT 2%2%1*2 = 8 i



il
o
00

/% 6 (GWD T1Q2):

A certain roller coaster has 3 cars, and a passenger is equally likely to ride in any 1 of
the 3 cars each time that passenger rides the roller coaster. If a certain passenger is
to ride the roller coaster 3 times, what is the probability that the passenger will ride
in each of the 3 cars?

(A)O (B) 1/9 (C)2/9 (D) 1/3 (E) 1

fET: BB IRIOMER: 3/3; B IRIIRER: 2/3; B IRIIMER: 1/3
MEZ% 3/3*2/3*1/3=2/9
CRRmTRetE: 3*%3*3=27, FMAKMUAITREM: 3*2*1=6)
K=, C

i

/% 7 (GWD T1Q37)

A jar contains 16 marbles, of which 4 are red, 3 are blue, and the rest are yellow. If
2 marbles are to be selected at random from the jar, one at a time without being
replaced, what is the probability that the first marble selected will be red and the
second marble selected will be blue?

(A) 3/64 (B) 1/20 (C)1/16 (D) 1/12 (E)1/8

fBEbT: B DHIMEE: 4/16; - PDHIMEE: 3/15

MEZ 4/16 * 3/15 = 1/20

CRITTREN:: Cle*Cig=240; FFAMFIITTREME: €} * €} =4*3=12)
X2 B

HH’

8 8 (GWD T1Q9)

A gardener is going to plant 2 red rosebushes and 2 white rosebushes. If the
gardener is to select each of the bushes at random, one at a time, and plant them in
a row, what is the probability that the 2 rosebushes in the middle of the row will be
the red rosebushes?

(A) 1/12 (B)1/6 (C)1/5 (D) 1/3 (E) 1/2

b A AROBER: 2/4; HTAPMEER: 2/3; B=AMMER 1/2; N4



IR : 1/1
W% 2/4%2/3*%1/2* 1/1=4/24=1/6
CRIITTHEME: Pf=24, FFEAMEINTTREME: 2%2*1%1=4)
Z: B

o

/8 9 (GWD T9Q23)

When tossed, a certain coin has equal probability of landing on either side. If the
coin is tossed 3 times, what is the probability that it will land on the same side each
time?

RO S S N B
()8 ()4 ()3 ()8 ()2

f#bT: (1) 3 XIFNIET: 1/2*1/2*1/2=1/8
(2) 3W[FEINM: 1/2*1/2*1/2=1/8
RUIHER - 1/4

—?é: B

H}

/8 10 (GWD T15Q22)
How many 4-digit positive integers are there in which all 4 digits are even?
(A) 625 (B) 600 (C) 500 (D) 400 (E) 256

fEAT: SR NEUGTTREME: 4R CRNBEN 0D,
AN RerE: 5,
AR RetE: 5 A,
FEIIN T ReNE: 5 F,
MILH AT BEME . 4*5%5%5 =500

%: C

o3

8 11:

A three-digit code for certain logs uses the digits 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 according to
the following constraints. The first digit cannot be 0 or 1, the second digit must be
0 or 1, and the second and third digits cannot both be 0 in the same code. How
many different codes are possible?



A. 144
B. 152
C. 160
D. 168
E. 176
fEdT: LA RENE: 85
LRI REE: 25
AL RTREME: 10/9 B (HUR T 28 A7 EE &8 0)
8%1*10 (5 _fi A1) +8*1*9 ((E_fiyo) =152
ZE: B

i 12 (GWD  T25Q14)
If a certain coin is flipped, the probability that the coin will land heads up is 1/2. If
the coin is flipped 5 times, what is the probability that it will land heads up on the
first 3 flips and not on the last 2 flips?
A. 3/5
1/2
1/5
1/8
1/32

moOoOw

=
Z
=y
m NI

N
#

AN 4 EXEN K

IEH R ARF ROT, W S R IE 5 AR SR 12 A B A« B 7
AU R A A RERTATRENE, BAT RS R RENE, PRJE SR “AF
A” HIFTREVE. A BUFTREME = ST REME—IE A HFTREHE.



—RAFA T, BHE PR AR ?, “at least++*+ », FRARFRET
PAFH IEXE ) S SRAR B -

i/ 1.

A certain law firm consists of 4 senior partners and 6 junior partners. How many
different groups of 3 partners can be formed in which at least one member of the
group is a senior partner? (Two groups are considered different if at least one
group member is different.)

(A) 48 (B) 100 (C)120 (D) 288 (E) 600

%% B

il 2 (GWD T2Q26)

There are 8 books on a shelf, of which 2 are paperbacks and 6 are hardbacks. How
many possible selections of 4 books from this self include at least one paperback?

(A) 40 (B) 45 (C) 50 (D) 55 (E) 60

ft T SRITTREME: Cq =70,
RN 4 AR — A S paperback (4 #B+2 hardback) A fEM:: €2 = 15.
B LA BN ) 4 A 207 — A& paperback HIABEME R 70—15 = 55.

%%: D

8 3 (GWD T2Q31)

There are 8 magazines lying on a table; 4 are fashion magazines and the other 4 are
sports magazines. If 3 magazines are to be selected at random from the 8
magazines, what is the probability that at least one of the fashion magazines will be
selected?

(A)1/2 (B)2/3 (C)32/35 (D) 11/12 (E) 13/14

flEdT: 8 AFirdh 3 AT REM:: €3 =56
EIH 3 A PEA — A& fashion magazine( 4= #& sport magazine ) [ AJ e -
C3 =4



HhEN ) 3 A E /D —4A fashion magazine A EM:: 56—4 =52
ME% 2. 52/56 = 13/14
?ﬁ: E

o

i 4 (GWD T24Q4)
A shipment of 8 television sets contains 2 black-and-white sets and 6 color sets. If 2
television sets are to be chosen at random from this shipment, what is the
probability that at least 1 of the 2 sets chosen will be a black-and-white set?

A. 1/7 B.% C.5/14 D.11/28 E.13/26

fiET: BEIRTREME: c2 =28
— & B MBI AT R (PIRES R B : C2 =15
HE|E S —-EBAEMILG AT REM:: €2 - €2 =13
MER & 13/28

A=, E

H}

/i 5 (GWD T26Q3)
A coin that is tossed will land heads or tails, and each outcome has equal probability.
What is the probability that the coin will land heads at least once on two tosses?

A. 1/4
B. 1/3
C. 1/2
D. 2/3
E. 3/4

fiEEtr: SAEIRTRENE: 2%2=4
B — R IETR AT RE P (PIRER R TD: 1*1=1
Mk =D — R IR AT REPE: 4—1=3
M Z % 3/4

EX: E



W 6: (4 AHLE)
BEAA 7 FhoT CLYG T SR 25 . ABCDEFG, b AB ANRE—AEH, <> TE3%.
) e = Fh 24 (44 HA R E 2 /D Fh?

AE%:

SRTRENE: BRhZG ik = FhC3 =35

&M TREM: “Imfl AB —i2H 7. C2*CE =5
NG %A 35-5=30

o

. 30

1% 7

If a committee of 3 people is to be selected from among 5 married couples so that
the committee does not include two people who are married to each other, how
many such committees are possible?

(A) 20 (B) 40 (C) 50 (D) 80 (E) 120

fiEdir: A10 S AN E 3 N ANEMETREE: C_1073 =120
RN NS — X RFRATRENE: €2 (5 X RFTEF P 1 %) * ¢ GEITF
8 NAHBENLIH—A) =40
Fr LA 2 AA RS — X R ZERI AT getE = 120—40 =80

—?é: D

H}

8 8 (11 AHLZ):

TEJ7 e = 2R, IR =R UAREFZS T — 5, A LFRIE?
FEERT -

SR ReME: €2, =220

B = KIANIIFAAE T — M RetE (Rt 8 N2 A): 8 Ff
ZRINFAMRZ T — MR REME: 220-8=212

EEHEA 5: HHgH
i



FERFE A TC R LAHE I, 7R IEX S B E — B TR G
fE—AIeER, MHAL TR EATHES, SR )5 XX e R — &2 T
I EEAT N

245

ABCDE FiNCRBEATHES, FHrh BC AZHEAE—iL, MIJeHE B Al CH
fEHE—I &K, BIPE, SRJ5 B fl ¢ WHER &P2, ArLLE AT AetE
JEP}*PZ

BEHEMN:
A 1B WIAE—i#E (FRFE ). A FI B ARefE—#e (PRI ZREITHD

LAY 5]«
There will be 5 songs and 3 dances in a performance. How many distinguished way to
arrange the shows if all dances cannot be next to each other?

(1) How many distinguished way to arrange the shows?

(2) How many distinguished way to arrange the shows if all dances must be next to
each other?

(3) How many distinguished way to arrange the shows if all dances cannot be next
to each other?

ER:

(1) P§

(2) P8 * P3

(3) P — P * P§

117 1
—/N%1)LIE A three pairs of twins, LEARATTR: —HERGAR, & — XU ARG AR R 7E—
do i Al — I JURhHEE?

A@\%?
SXPUMIAG, R AR, AR 2 P =6
AP A, Aa, Bb, Coo BRATXUNIE A EBHERF: P2



Fi A4S 52 P3 X P2 X P} X P3=48

ZBR: 48

R 2 (5 HHLE):
LR 20 NN LR E TRINFHEE, ZIMiE=1 AN, ARESEN=1AK
b AN

AE%:
F1 20 DNIESR) TR AR — A, MR TE 3 N, [HEASEEE

83 AN TER. €3y —18=1122
BR: 1122

il /8t 3:
ABCDE HAN, HANANHEF, AB ZIHEADFER DN, WG L /DHEF 2

B
HeFla$oupe =120
JeBH AB HEfE AT REME: K AB HHEE N — AR, BN 4 N oe AT HES;
N AB TN, T EXXARGE ) T R AT N
P} * pZ =48
AB AREHEE — i fetE: 120 - 48=72

%%: 72

Bl 4. (4 APLED
CIRCLEANNFERA LA strain, FPEAS C Z 814G HALFZRERE A strain
HZ/bR?

A@\%z

Y 2 P66
PN OCINEER o 2—’ =360

SRR R T REVE “ TS C LAHE 2 ”: PS = 120 (FLATA C R EHILE,



ANEBEFHI A C #HATHEHF)
AP C 28 HAth 7 BERF AT BEM:: 360 — 120 = 240,

&R 240

AWM 6: Wi
. BH S JRR BT RN, R 2rmRm N EURA AR, KR
FHRTC R

il 8t 1:

To furnish a room in a model home, an interior decorator is to select 2 chairs and 2
tables from a collection of chairs and tables in a warehouse that are all different from
each other. If there are 5 chairs in the warehouse and if 150 different combinations
are possible, how many tables are in the warehouse?

(A)6 (B) 8 (C)10 (D) 15 (E) 30

BE: A

113 2

In a stack of cards, 9 cards are blue and the rest are red. If 2 cards are to be chosen
at random from the stack without replacement, the probability that the cards chosen
will both be blue is 6/11. What is the number of cards in the stack?

A. 10

11

12

15

18

moow

M WAERAE n o
B TR, €2, = T2 ()

2
RN 2 DERAGEBEERATATREVE: CF* CR=36



RAMER & 6/11,, FTLACE,, = w =66
it n =3, TPl n+9=12

o
il
s}

Bl 3 (5 APLE):
The company is to select 3 of n of their employees to participate in an exhibition
show. How many of different groups of the 3 employees can be formed?

(1) If the company is to select 2 employees as a group, 105 different groups can be
formed.

(2) If the company has n+1 employees, there will be 105 more groups can be
formed compared to current one

il 0 R I <

Fir BAs2 223K C(n,3)

(1) €(n,2)=105, A4 n(n-1)/2 =105.... n=15 A4 EELAT LK H C(n,3) T »

(2) C(n+1,3)-C(n,3)=105; [(n+1)*n*(n-1)] / (3*2*1) - [n*(n-1)*(n-2)] /

(3*2*1)=105 , n=15 WAJLLKIIE C(n,3).

i

—%: D

/8 4 (GWD T12Q6):
A box contains 10 light bulbs, fewer than half of which are defective. Two bulbs are
to be drawn simultaneously from the box. If n of the bulbs in box are defective,
what is the value of n?
(1) The probability that the two bulbs to be drawn will be defective is 1/15.
(2) The probability that one of the bulbs to be drawn will be defective and the
other will not be defective is 7/15.

FFE AT <
(1) 10 MTiHh 2 MRIATRENE: €y =45
AP 2 MNMT WAL 2 defective FIFTREME: C2 =n(n-1)/2
MERE 1/15, WIC? =n(n-1)/2=3, n NIE®H, n=3.
(2) 10 MTiHh 2 MRIATRENE: €3 =45
RN 2 NMTH—DIR. — DAIREATRENE: G * Cly_,, =n*(10-n)



Wi 7/15, WICE * Cfy,_,, =n*(10-n)=21
n=3 8¢ 7, BINETHELUH n<5, Frll n=3.

o

Z:. D

/% 5 (GWD T14Q2):
If 2 different representatives are to be selected at random from a group of 10
employees and if p is the probability that both representatives selected will be

women, is p > E ?
1
(1) More than 5 of the 10 employees are women.

(2) The probability that both representatives selected will be men is less than E

it WA x4, WEMEHE 10x %
10 ™A HHh 2 NMARIATREYE: CF) =45
BN 2 NN R ZERIATREE: €2 = x(x-1)/2
HER . x(x-1)/90.
BT x(x-1)/90>1/2, Bilx?-x>45.  RIH|Wrx2-x F1 45 {1/
(1) x>5 x=68{ 7, x?-x<45; x=8 8{ 9 IF}, x%-x>45, insufficient
(2) 10 M AEH 2 MARIATREME: € =45
HHEI 2 N ANFR BERIATRENE: CE—y = (10-X)(9-x)/2
REZ 2 (10-x)(9-x)/90.  (10-x)(9-x)/90< 1/10, E[I(10-x)(9-x) < 9
RN x (1~8), x=7 B 8 I}, (10-x)(9-x) <9, FF& %M,
x=7 I}, x?-x<45; x=8 I, x2%-x>45, insufficient
(1) + (2): x=7 8¢ 8. insufficient

>

—?é: E

il

B 6 (4 ANLE):
AB,C AN NES G N X A1 Y dlEREER kK. X @R A 3 MeCEk, 10 MEEK; Y
WEHHA 2 NMAER, 8 MNAEK. AR B AN ANELMET —ABRT, 1 XA
N 12 SR G B THT AR R A B 25 B L BRI M3 B K — 1k 2

(1) ARMXHERE | —/N4ER

(2) B Y GEFE T —/ LBk



BB
PUFPIESL: A M X FEEZ—L0ER B M X Bl — A3k,

A M X BEE—NOERB MY BEE— AL EK,

AMY BEZ LB B M X EE—/ LK,

AMY FEE—ANOERB MY FEEZ—AL IR,
(1) W A M XEE—ANLER B M X BEE—ANLLERK, X IR BRI Z 2
1/11, Y GEHLALBRFIMER 2 2/10, Y SEMERBE K
WSS A X GEZ—NLER B Y HEE—ALLER, X FEE B BRIIMER 2 2/12,
Y BEEUALEROMER 2 1/9, X HEMER T K.
FIt CAANH 72
(2) A XGEFE—ALER B Y BESE—ALLER, X MERR BRI M2 2/12, Y
TEELLLER OMER 2 179, X BEMERTE K,
R AMNY FEE—ADOERB MY HEE—NOER, X FER B IRANER Z 3/13,
Y HEHY AL ER AR A2 0, X BEMEARBE K
FIT DL X EEL 3 21 BR R 3 56 K

ER: B

£BHRA 7. EETLER

An

CERIFANED « CuR2ZBED

AR

1513 1
In how many distinguishable ways can the 7 letters in the word MINIMUM be

arranged, if all the letters are used each time?
(A) 7 (B) 42 (C) 420 (D) 840 (E) 5040

A% C

H?’

1% 2

There are 5 cars to be displayed in 5 parking spaces with all the cars facing the same
direction. Of the 5 cars, 3 are red, 1 is blue, and 1 is yellow. If the cars are
identical except for color, how many different display arrangements of the 5 cars are
possible?



(A) 20 (B) 25 (C) 40 (D) 60 (E) 125

o

= A

Bl @t 3:
How many different 6-letter sequences are there that consist of 1 A, 2 B’s,and 3 C's ?

A. 6
B. 60
C. 120
D. 360
E. 720

- P¢

fit T - Y

BE: B

Bl Et 4.

—AREKT 5 AR, 2 B A G, 3 6% B M, 2EENBAE, B

MrEREHE G, AAZO0ME?

/E‘E\ E% H
BB HMNET LA 7 Pk, e fh. HINAES
7%6x5%4%3

=210
31x2!

K2 210

EHHA 8: B EHRE

n

A% 2= T = (n-1)!

1% 1
At a dinner party, 5 people are to be seated around a circular table. Two seating



arrangements are considered different only when the positions of the people are
different relative to each other. What is the total number of different possible
seating arrangements for the group?

(A)5 (B) 10 (C) 24 (D) 32 (E) 120

o

Z&: C



